9 Academic Math

Day 1: Perimeter & Area of Basic Shapes

Date:

Unit 7: Measurement

Review: Perimeter & Area of Basic Shapes

SHAPE PERIMETER AREA
Rectangle/Square P=2l+2w A=1xw
4m P:Q'q-l-g‘g_ A:L'x’?_
2m P= ? _" L’ A= ?ML
= |2Mm
| 7
Triangle P = s1+S,+S3 Ao bxh
2
A= 15(2.2)
A= 8.25m*
Parallelogram P = s1+s,+S3+s, A=bxh
F4 p=F2+Fy+ Ty | A_Fy fb.'?-‘?)
"4.'1-\!\ 6.75cm \\izcm p= 24.L A= quqs-(.m“'
7.4c;1
Circle C=2mr orC=m A=rxr?
1
C= -H 10 A= —\r‘ 5
C= 3.4 om A:??ﬁ-om?"
What would you do if you * remember the radius is
know only the radius? xL half the diameter.
Trapeziod P=a+b+sl+s2 A:E(a+b)h
p=0tb45+ {4 2
<6 L (l0+6)-3
g a : b= as' A_.?. ( )
sl h=1 ‘ s2:Y A:_'_zl_’.lb.s
b= 10 =Y et
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Practice: Area and Perimeter

Find the area and perimeter (circumference) of each figure:

a.Rectangle b.Triangle ci= q-;‘l_bz c.Circle
1.2 9"
(n m €
2 /C to Mt gl
- mm c*-z$
= ] 125
- 2U5x 2(25) m— €= C=Td
=[O+S— ?:'Q’fq-l'ls = 12T
- - ._". « b h
A- L f\- 2 A A' = T(’l V =6
- 5 (25) | Yo q T
-.-.”-«"—ML li =
23T
=54m” !
= ([3.99m,
d.Parallelogram e.Trapezoid
5km
‘3 . 6.3 m
12km 8.2m
13km 63 m
T —
Do 15454
- 2)9 126 m
- tan
P=623+ 6.3+8.2412.b
A— bxl = B4
=5 L A= L (63412 6)%6.3
= (aO P—w"
1 (g, (6.3
= Sq."ml
ANSWERS: a. A=12.5m°, P=15m, b. A=54m°, daesbimm C. maaseasas, C=37.68m°, d. A=60km°, P=36km, e. A=59.5m”, P=33.4m
P=36m A=13.09m*
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More Area & Perimeter Practice

Find the area and perimeter of the following shapes:

f g. h
2cm
acm
4 cm
/J‘..___ - Lo : P-_Q-LHZL g Cm
=Lt 284y A<53  P=25123
":.80\!\‘\ | =120 :|5_0.m1' -lO-]wb
=lbwr
| J 13 cm k.
gcm gcm
3 cm [
| 12 Cm
4cm o Al sz P=5tib
A‘:-’--S.’-{ ?:341"-‘.)] A-‘Zl‘)- -30@'1
Z * = 2o ! = Soc.mz’
= bgm |
l
)
A= b p- [2um ' A= et b o
l. @ 8em n.
y/ Lom .
8m 2em 2.4cm
- 8 J.’)) -9 2+2 5cm
2 p =6ty ﬂ':a-{(S-f?)-'L P:g“ 42447
= 2m* —20m I =114
A:g"z"v'l P= 2.0#‘ A:I30|AL p:”-({f-w-

C=ATr A= [T"t
=4V =ur
=12.5% =25%

ﬂ’:]TbL C=Td
= {13, 1o(- =127
= 3? ZOCM

A= 310 * p = 3F. FOun

< 10 &rm
Q
t
8 cm
3 Cm

g cm

A:é( DB P_9+ot3473

PIRE =%

A= q&'ﬁl’ P= SOL/"

ANSWERS: f. 8cm?, 12cm, g. 15cm?, 16cm, h. 12.56m?, 12.56cm, i. 6cm?, 12cm, j. 30cm?, 30cm, k. 113.04cm?,

37.68cm, . 10.4m?, 20m, m. 13cm?, 17.4cm, n. 48cm?, 30cm
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Area and Perimeter Problems

Complete the table for the circles with the following dimensions/measurements:

Radius Diameter Circumference Area
0. 7 cm (femn | C=lUT = 4297 A-T#H <1539y
P.| [OFem | 2lcm | 9| T = 65.97F =T(io5)" = 3yb.3k
| 299 | 3%%~ | Td <1884cm T(2.99* = 28.25
.. \2 24 %0 = 75 qow..\ Tr" - 45230m" riluy
a T =172

s. The world’s largest dish radio telescope has a
diameter of 305 m. What is the circumference of the

telescope?
C=Td
= 207d
=958 19m

w+ 10

Determine the simplified expression for the perimeter
of this rectangle

_2w+2 w-u_o)/*““"”"
—‘2Lu+9-°°'”‘°

Determine the simplified expression for the area of
this rectangle

A = w(w'“")
- -HOUV

Calculate the value of w if the perimeter is 76 units

Yyw—+20 =6
L{bo =5k

5334

t. A pool has a 50-m fence around 3 sides. One side is 14
m and the other sides are equal.
a. How long is each equal side?
+ ly=5o
X I lx X XQ-:( !1: ¥ ,ﬁﬁjl?
T & __EJ- 74 Y
b. Fence posts costing $15.59 each is placed
every 2 m. how much do the posts cost?
(0%2=20pests+bposts 18]
L)
To+al poS+S =26
v. z6x$issa=$

06,34

2x+5

X+ 4

Determine the simplified expression for the perimeter
of this triangle

’?_ Ax—+5 +3x-2L4X+Y
En( +F

Determine the simplified expression for the area of this

"";':mg'e x (xaty) = X(xruw)_ xEUx
Z 2 b

Calculate the area if x=11

po= xCcty) 0TI

- - 825
L =

ANSWERS: 0. 14, 43.96, 488=4=# p. 10.5, 65.94, 346.785, q. 3, 6, 28.26,
V. P=6x+7, A=(x*+4x)/2, 82.5units’

18m, $389.75, u.P=4w+20, A=w’+10w, w=14,

r.12, 24, 75.36, s.957.7m, t.




